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ELEMENTS COMPOUNDS

Which one of the following is not a mixture
(A) Tap water (B) Distilled water
(C) Salt in water (D) Oil in water

LAWS OF CHEMICAL COMBINATION

LAVOISIER JOSEPH PROUST ~ JOHN DALTON  GAY LUSSAC  AMEDEQ AVOGADRO
1789 1799 1803 1808 1811

Which one of the following pairs of compound

illustrate the law of multiple proportions 2 Note
(A)H,O,Na,0  (B) MgO, Na20 Om .‘ ’L
(C) Na,O, BaO (D) SnGl éﬁN "( ’L @)
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Which one of the followings has maximum
number of atoms?

(A) 1 g of Mg(s) [Atomic mass of Mg = 24]
(B) 1 g of O, [Atomic mass of O=16]

(C) 1 g of Li(s) [Atomic mass of Li = 7]

(D) 1 g of Ag(s) [Atomic mass of Ag = 108] NEET 2020
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MOLE CONCEPT

When 22.41 of H,(g) is mixed with 11.2L of Cl (g),
each at STP, the moles of HCl(g) formed is equal to

(A)0.5 (B) 1.5 (C) 1 (D)2 AIPMT 2014

How many burgers can be made 2
Which part is the Limiting reactant 2:

The number of moles of hydrogen molecules
required to produce 20 moles of ammonia
through Haber's process is

(A)40 (B)10 (C)20 (D) 30

NEET 2019
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Molecular Formula
C3H 603 CH20
CIOHI4N2 CSH7N
c12H220|l cI2H220H
. J

An organic compound contains 80% (by wt.) C & the
remaining percentage of H . The empirical formula of
this compound is:

(A)CH, (B)CH, (C)CH NEET 2021

T’ercentoge composition of H,O \ IPercentoge composition of CO, I
e

Mass % of carbon in ethanol is
(A) 52 (B) 13 (C) 34 (D) 90




